This report contains the transfers results.

Contest Name	Inverness Ness-side
Valid Votes	4,346
Positions to be Filled	3
Quota	1,087

# Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Alasdair CHRISTIE	Scottish Liberal Democrat Focus Team	1,934
Jackie HENDRY	Scottish National Party (SNP)	1,270
Calum Mark LIPTROT	Scottish Libertarian Party	18
Andrew MACKINTOSH	Scottish Labour Party	276
Claire MACLEAN	Scottish Greens - Delivering For Our Community	226
Ron MACWILLIAM	Independent	243
Ric SCOTT	Scottish Conservative and Unionist	379
	Total	4,346

Candidate Alasdair CHRISTIE Elected with 1,934 votes, being in excess of the quota of 1,087 Candidate Jackie HENDRY Elected with 1,270 votes, being in excess of the quota of 1,087

This report contains the transfers results.

# Stage 2 - Surplus of Alasdair CHRISTIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Calum Mark LIPTROT	27	0.43795	11.82465
Transfer to Andrew MACKINTOSH	405	0.43795	177.36975
Transfer to Claire MACLEAN	215	0.43795	94.15925
Transfer to Ron MACWILLIAM	368	0.43795	161.16560
Transfer to Ric SCOTT	418	0.43795	183.06310
No further preference	501	0.43795	219.41295
Not transferred due to rounding			0.00470
	Total		847.00000

This report contains the transfers results.

# Stage 3 - Surplus of Jackie HENDRY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Calum Mark LIPTROT	24	0.14409	3.45816
Transfer to Andrew MACKINTOSH	199	0.14409	28.67391
Transfer to Claire MACLEAN	592	0.14409	85.30128
Transfer to Ron MACWILLIAM	143	0.14409	20.60487
Transfer to Ric SCOTT	14	0.14409	2.01726
No further preference	298	0.14409	42.93882
Not transferred due to rounding			0.00570
	Total		183.00000

This report contains the transfers results.

# Stage 4 - Exclusion of Calum Mark LIPTROT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrew MACKINTOSH	4	1.00000	4.00000
Transfer to Claire MACLEAN	3	1.00000	3.00000
Transfer to Ron MACWILLIAM	3	1.00000	3.00000
Transfer to Ric SCOTT	2	1.00000	2.00000
Transfer to Andrew MACKINTOSH	7	0.43795	3.06565
Transfer to Claire MACLEAN	3	0.43795	1.31385
Transfer to Ron MACWILLIAM	8	0.43795	3.50360
Transfer to Ric SCOTT	2	0.43795	0.87590
Transfer to Andrew MACKINTOSH	8	0.14409	1.15272
Transfer to Claire MACLEAN	5	0.14409	0.72045
Transfer to Ron MACWILLIAM	2	0.14409	0.28818
No further preference	6	1.00000	6.00000
No further preference	7	0.43795	3.06565
No further preference	9	0.14409	1.29681
Not transferred due to rounding			0.00000
	Total		33.28281

This report contains the transfers results.

# Stage 5 - Exclusion of Claire MACLEAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrew MACKINTOSH	74	1.00000	74.00000
Transfer to Ron MACWILLIAM	56	1.00000	56.00000
Transfer to Ric SCOTT	2	1.00000	2.00000
Transfer to Andrew MACKINTOSH	56	0.43795	24.52520
Transfer to Ron MACWILLIAM	52	0.43795	22.77340
Transfer to Ric SCOTT	9	0.43795	3.94155
Transfer to Andrew MACKINTOSH	123	0.14409	17.72307
Transfer to Ron MACWILLIAM	155	0.14409	22.33395
Transfer to Ric SCOTT	11	0.14409	1.58499
No further preference	97	1.00000	97.00000
No further preference	101	0.43795	44.23295
No further preference	308	0.14409	44.37972
Not transferred due to rounding			0.00000
	Total		410.49483

This report contains the transfers results.

# Stage 6 - Exclusion of Ron MACWILLIAM

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrew MACKINTOSH	114	1.00000	114.00000
Transfer to Ric SCOTT	52	1.00000	52.00000
Transfer to Andrew MACKINTOSH	108	0.43795	47.29860
Transfer to Ric SCOTT	103	0.43795	45.10885
Transfer to Andrew MACKINTOSH	101	0.14409	14.55309
Transfer to Ric SCOTT	3	0.14409	0.43227
No further preference	136	1.00000	136.00000
No further preference	217	0.43795	95.03515
No further preference	196	0.14409	28.24164
Not transferred due to rounding			0.00000
	Total		532.66960

This report contains the transfers results.

# Stage 7 - Exclusion of Ric SCOTT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrew MACKINTOSH	148	1.00000	148.00000
Transfer to Andrew MACKINTOSH	192	0.43795	84.08640
Transfer to Andrew MACKINTOSH	13	0.14409	1.87317
No further preference	287	1.00000	287.00000
No further preference	340	0.43795	148.90300
No further preference	15	0.14409	2.16135
Not transferred due to rounding			0.00000
	Total		672.02392